DRŽAVNO NATJECANJE U ZNANJU ENGLESKOG JEZIKA

za 2. razrede srednjih škola

ŠKOLSKA GODINA 2007./2008.

Zaokruži broj (1,2 ili 3) liste u kojoj se natječeš:

1
Lista A: gimnazije




               2        Lista B: ostale srednje škole






     3
     Lista C: školovani na engleskom jeziku duže 

od jedne školske godine


Zaporka: __________________________________




(pet znamenki i riječ)

Slušanje s razumijevanjem: 

_____________ / 5 bodova

Pisanje: 





_____________ / 25 bodova

Čitanje s razumijevanjem: 

_____________ / 5 bodova

Gramatika i vokabular: 


_____________ / 40 bodova

Govorenje: 




_____________ / 25 bodova

Broj postignutih bodova: 


_____________ / 100 bodova

Članovi Državnog povjerenstva:

1. ________________________

2. ________________________

      Predsjednik Državnog povjerenstva
3. ________________________

      __________________________
__________________________

     (mjesto i nadnevak)  

	PART 1 – Task 1: LISTENING COMPREHENSION


	Task 1: Listening

You will hear a report about children who do hard work. You will hear the report twice. Listen carefully to the instructions. Complete the sentences with the exact words from the original text.
You have 30 seconds to read through all the questions.

The task begins with an example.

After you hear the report for the second time, you have 45 seconds to check your answers and transfer them onto the Answer Sheet. 


(0) Many kids are __________ ______ _________in hard, dangerous jobs all over the world.

(1) More than 100 million kids worldwide work on plantations and ___________.

(2) The Fair Labor Standards Act requires safe ________________  _________________. 

(3) Twelve-year-old kids work ___________________ days in the fields with their families.

(4) Many children and teens are injured because they use sharp objects designed for __________________  _________________.

(5)  Because migrant children miss so much school, as many as _______________.
	This is the end of the listening task. You may now go on to do the writing task.


	PART 1 – Task 2: WRITING


	Task 2: Writing

Watching TV is one of the most popular free-time activities. Every network tries hard to attract as many viewers as possible by offering the best programs. Almost every network offers a version of a reality show. It all started in the past with “Candid Camera”. But soon things changed, and “Big Brother” started with a group of people locked in a small house with cameras running 24 hours a day. “Survivor” was the next where a group of people are put in a hostile environment, like a jungle or a deserted island. Recently “Farm” is everywhere you turn. 

Are these programs good television? Why do people keep watching them? Write an essay which answers these questions. Make sure to include both positive and negative aspects of this issue. 

Write your essay in approximately 200 words. Organize it in three to five paragraphs (introduction, development, conclusion). You may use the blank paper provided for making notes but make sure that your essay is neatly written in the space provided below. 


Reality Shows: Positive and Negative Aspects
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

	PART 2 – Task 1: READING COMPREHENSION


	Task 1: Reading 

Read the following text and the five sentences below. For each of the gaps 1 – 5 in the text chose ONE sentence (A-F) that best fits the gap, according to the text.

Write the corresponding letter (A-F) on the Answer Sheet.

The task begins with an example (0).
Remember to write your answers on the Answer Sheet.




Heathrow Terminal 5

London Heathrow is the biggest airport in the UK and it also (0) _______________________  ___________________________. For this reason, expansion was planned and on 27th March a fifth terminal opened to help cope with the many passengers that pass through the airport.

The new terminal has taken a long time to plan and build. (1) _______________________ ________________________________. The opening of it has been talked about widely in the media in the UK and expectations were high for the £4.3 billion project.

However, in spite of long preparations at Terminal 5 ahead of the grand opening, things soon descended into chaos. There were problems from the outset as staff had difficulties finding car parking spaces and getting through security to get into the building. (2) ____________ ______________________________. Long passenger queues formed and the slow start meant that everyone had to play catch-up from the beginning.

Staff were having problems using the new systems and a baggage handler told the BBC, it was all "(3) __________________________________". The terminal has been designed to handle 12,000 bags an hour but due to a reported "lack of training and essential support that was promised", a backlog of luggage soon materialized.
By lunchtime on that first day, (4) _____________________________________________.   Flights continued to be cancelled in the days following the opening and up to 28,000 bags have now had to be placed in temporary storage.

BA, the only airline operating at Terminal 5, says it is working to clear the backlog, (5) _____________________________________ has not helped the airport or the airline's reputation at all.

(A) The idea was first proposed back in the 1980s.
(B)   a shambles the moment the doors opened
(C)   but the negative publicity caused by this fiasco
(D)   20 flights had been cancelled to try and alleviate the problems.
(E)   handles more international passenger traffic than any other airport in the world.
(F)   This consequently caused a delay when passengers started to arrive and adequate numbers of staff were not in place.
	PART 2 – Tasks 2 and 3: LANGUAGE IN USE


	Task 2: Vocabulary

Read the text below and think of the word that best fits each space. Use ONLY ONE word each time. Write your choice on the Answer Sheet. 

The task begins with an example (0).

Remember to write your answers on the Answer Sheet.




Earthquake hits Britain: the biggest tremor in 25 years

On 27th February 2008, something very unusual happened in the UK; there was a (0) __________ large earthquake.

It was the biggest earthquake in 25 years in the UK. There have been very small tremors in the (1) _______________ but they pale into insignificance compared (2) _________ this one. It was felt in a large area (3) ___________ the country too, from as far north (4) __________ Edinburgh in Scotland to as far south as Plymouth on the south (5) ____________ of England. The (6) ______________ of the earthquake was in a small town in Lincolnshire, which is an area about two and a half to three hours north of London (7) __________ car. A magnitude of 5.2 was registered on the Richter (8) _________.

There were lots (9) _________ reports in the news from people who felt the earth move. One man said, "We had loads of vibrating and wall shaking and stuff, noise coming off the roof. I came outside - the chimney's on the floor!" A collapsed (10) __________ was the cause of what was probably the worst injury (11) __________ the earthquake; a man broke his pelvis when the chimney fell (12) __________ him.

Another man who spoke to the BBC described (13) ___________ moment the earthquake occurred, "Everything was shaking. (14) ________ soon as it happened we all went           (15) ____________ and saw everyone else down the street, coming out and just realised it was an earthquake".

The huge rumble that was felt (16) ___________ a lot of people, surprisingly caused very little structural (17) ____________ to property.

Most British people would be surprised (18) ____________ learn that there are 200-300 earthquakes in Britain every year - but most of them are so small, they go unnoticed. The magnitude of this earthquake is fairly small in (19) _____________ to some other natural disasters that have made international news, but for the people affected, it certainly came as (20) __________ a surprise.

	Task 3: Proofreading

Read the text below. If you find a mistake in a line, suggest an alternative. If there is no mistake, put a tick (√). 

The task begins with two examples, (0) and (00).

Remember to write your answers on the Answer Sheet. 


A campaign against litter

	(0)         Our local council is conducting an action

(00)        to reduce the amount of litter in our streets.

(1)          We are all being encouraged to pick

(2)          any rubbish we see laying in the street

(3)          and fetch it to the nearest litter bin.

(4)          If we see anyone drop litter in the street,

(5)         we’re supposed to tell them to collect it.

(6)        Council workers regularly brush the streets

(7)        and collect rubbish from big green bins.

(8)        There are large posters everywhere which say:

(9)        “do a good act today! Keep our streets

(10)       clear! Don’t be a litterbug!”




	Task 4: Sentence Transformation

For sentences 1 to 10, complete the second sentence so that it is as similar as possible in meaning to the first sentence, using the given word. DO NOT CHANGE THE GIVEN WORD. Use between TWO and SIX words, including the given word.
The task begins with an example (0).

Remember to write your answers on the Answer Sheet.


(0) You must never take your helmet off while you are riding a motorcycle.  
all
      Helmets must be worn _________________________ when riding a motorcycle..

(1) They wanted to apologize for their behaviour; that's why they paid for dinner. 

order 

They paid for dinner ___________________________ for their behaviour.

(2) It isn't necessary to bring skis as they are included in the package. 

have 

You ______________________________ bring skis as they are included in the package.
(3)  I thought parking was allowed here. 

under  

I ____________________________ that parking was allowed here.

(4) I'm afraid that car is just too expensive.

means

That car is ________________________________. 
(5) Martin didn't come to the meeting yesterday. Perhaps he was ill. 

might 

Martin ____________________________ yesterday. 

(6) Luckily, Peter wasn't charged with an offence when the police caught him stealing the first time. 

off 

Peter was very lucky because he _________________________.

(7) Can I accompany you to the party? 

mind 

Do you _______________________________ to the party?

(8)  The concert was horrible.

time

The concert was a complete _____________________________. 

(9)  I didn't mean to break that vase. 

on 

I didn't break that vase ______________________________.

(10) Although he was able to do the job, he wasn't given the position. 

despite

_______________________________ to do the job, he wasn't given the position.

	THIS IS THE END OF THE TEST.


